

On the non-embeddability of Dold's manifold

By

Chiko YOSHIOKA

(Received in November 30, 1965)

1. Introduction

Let $P(m, n)$ be Dold's manifold of type (m, n) . $P(m, n)$ is defined as follows. Let S^m be the unit sphere in R^{m+1} : $S^m = \{x = (x_0, x_1, \dots, x_m) \in R^{m+1}; \sum x_i^2 = 1\}$ and CP_n the complex n -dimensional projective space: $CP_n = \{z = [z_0, z_1, \dots, z_n] \mid z_i \text{ complex number}\}$. Now $P(m, n)$ is the manifold obtained from $S^m \times CP_n$ by identifying (x, z) with $(-x, \bar{z})$ where $-x$ denotes the antipodal of x and \bar{z} the conjugate of z . The dimension of $P(m, n)$ is $m+2n$.

Y. Ando showed that when $m=2^k$ and $n=2^l+1$ ($0 < k < l$) $P(m, n) \not\subset$ (cannot be embedded) $R^{2(m+2n)-5}$ [1]. In this paper we will show some general results in analogous cases by the similar methods.

The author wishes to express his thanks to Prof. K. Aoki, Prof. K. Kaneko and T. Watabe for their kind discussions and valuable suggestions.

2. Stiefel-Whitney class

By A. Dold [2] we know that

- (1) $H^*(P(m, n))$, the cohomology ring of the coefficient Z_2 of $P(m, n)$, generated by $c \in H^1(P(m, n))$ and $d \in H^2(P(m, n))$ such that $c^{m+1} = 0$, $d^{n+1} = 0$ and $Sq^1 d = cd$;
- (2) $w(P(m, n)) = (1+c)^m (1+c+d)^{n+1}$ where w denotes the total Stiefel-Whitney class.

Now, we consider the case of $m=2^k$ and $n=2^l+r$ ($1 \leq k < l$, $1 \leq r < 2^l$). There exists a p such that $2^{p-1} < r+1 \leq 2^p$ (for $r \geq 2$), $2^{p-1} \leq r+1 < 2^p$ (for $r=1$), and it is unique. Clearly $p \leq l$. Using this p , we have

$$(3) \quad r+1 = 2^p - \sum_{i=2}^{p-2} a_i 2^i - \begin{cases} 2+1 \\ 2 \\ 1 \\ 0 \end{cases} \quad \text{for } r \equiv \begin{cases} 0 \\ 1 \\ 2 \\ 3 \end{cases} \pmod{4}$$

where $a_i = 0$ or 1 . Then, from (2) and (1)

$$w(P(m, n)) = (1+c)^{2^k} (1+c+d)^{2^l+r+1}$$

$$(4) \quad = (1+c^{2^k})(1+d^{2^l})(1+c+d)^{2^p} \prod_{i=0}^{p-2} (1+c+d)^{-a_i 2^i}.$$

Hence, by $w\bar{w}=1$ and (1), we obtain the dual total Stiefel-Whitney class of $P(m, n)$ ($m=2^k, n=2^l+r$):

$$(5) \quad \begin{aligned} \bar{w}(P(m, n)) &= (1+c^{2^k}) (1+d^{2^l}) (1+c+d)^{-2^p} \prod_{i=0}^{p-2} (1+c+d)^{a_i 2^i} \\ &= (1+c^{2^k}) (1+d^{2^l}) \sum \binom{s+t}{s} c^{2^p s} d^{2^p t} \left\{ \begin{array}{l} (1+c+d) (1+c^2+d^2) \\ (1+c^2+d^2) \\ (1+c+d) \\ 1 \end{array} \right\} \\ &\quad \cdot \prod_{i=0}^{p-2} (1+c+d)^{a_i 2^i} \quad \text{for } r \equiv \begin{cases} 0 \\ 1 \\ 2 \\ 3 \end{cases} \pmod{4} \end{aligned}$$

where the sum \sum is taken for the integers s, t such that $0 \leq s \leq 2^{k-p}$ (if $k \geq p$), $s=0$ (if $k < p$) and $0 \leq t \leq 2^{l-p}$.

In the expansion of (5), the number of the terms of the form $c^i d^{2^l+j}$ ($0 \leq i \leq 2^k$, $0 \leq j \leq r$) is even. For, $\binom{s+0}{s} = \binom{s+2^{l-p}}{s} \pmod{2}$ for any s . On the other hand, the number of the term $c^{2^k} d^{2^l-(r+1)}$ equals 1: $s=0, t=2^{l-p}-1$. (Cf. [6] §2) Hence,

$$(6) \quad \bar{w}(P(m, n)) = 1 + \dots + c^m d^{n-2r-1}.$$

Therefore, we have

$$\bar{w}_{m+2n-4r-2}(P(m, n)) \neq 0$$

and

$$(7) \quad P(m, n) \in R^{2(m+2n)-4r-2}$$

where $m=2^k$ and $n=2^l+r$ ($1 \leq k < l, 1 \leq r < 2^l$).

Next, we consider the case of $r=0$: $m=2^k$ and $n=2^l$ ($1 \leq k < l$).

Then, similarly to above methods, we have

$$w(P(m, n)) = (1+c^{2^k}) (1+d^{2^l}) (1+c+d)$$

and

$$\bar{w}(P(m, n)) = (1+c^{2^k})(1+d^{2^l}) \sum \binom{s+t}{s} c^s d^t = 1 + \dots + c^{2^k} d^{2^l-1}.$$

Hence,

$$(8) \quad P(m, n) \in R^{2(m+2n)-2}$$

where $m=2^k$ and $n=2^l$ ($1 \leq k < l$).

3. Steenrod square

The Steenrod square operation is a homomorphism $Sq^i: H^j(X) \rightarrow H^{i+j}(X)$ such that

$$(9) \quad Sq^0x = x,$$

$$(10) \quad Sq^ix = \begin{cases} x & (\text{if } \dim x = i) \\ 0 & (\text{if } \dim x < i), \end{cases}$$

$$(11) \quad Sq^i(xy) = \sum_{j=0}^i Sq^jx \cdot Sq^{i-j}y \quad (\text{Cartan formula}),$$

$$(12) \quad Sq^aSq^b = \sum_{j=0}^{\lfloor \frac{a}{2} \rfloor} \binom{b-1-j}{a-2j} Sq^{a+b-j}Sq^j \quad (0 < a < 2b) \quad (\text{Adem relation})$$

where the binomial coefficient is taken mod 2. (Cf. [5] Chapter 1, §1) From (12), in particular,

$$(13) \quad Sq^1Sq^i = \begin{cases} 0 & (\text{for odd } i) \\ Sq^{1+i} & (\text{for even } i) \end{cases} \quad (i \geq 0),$$

$$(14) \quad Sq^2Sq^i = \begin{cases} Sq^{1+i}Sq^1 & (\text{for } i=1, 2 \pmod{4}) \\ Sq^{2+i} + Sq^{1+i}Sq^1 & (\text{for } i=0, 3 \pmod{4}) \end{cases} \quad (i \geq 2).$$

For c, d (the generators of $H^*(P(m, n))$), we have

$$(15) \quad Sq^ic^j = \binom{i}{j} c^{i+j},$$

$$(16) \quad Sq^id^j = \sum \binom{j-t}{s} \binom{j}{t} c^s d^{j+t},$$

where the sum \sum is taken for the non-negative integers s, t such that $s+2t=i$.

The equalities (15), (16) are proved by the induction on i, j . (Cf. [5] §2.4, p5)

From (16), in particular,

$$(17) \quad Sq^1d^j = \begin{cases} cd^j & (\text{for odd } j) \\ 0 & (\text{for even } j) \end{cases}$$

$$Sq^2d^j = \begin{cases} \binom{j}{2} c^2d^j + d^{j+1} & (\text{for odd } j) \\ \binom{j}{2} c^2d^j & (\text{for even } j) \end{cases}$$

$$Sq^3d^j = \begin{cases} \binom{j}{3} c^3d^j & (\text{for odd } j) \\ 0 & (\text{for even } j). \end{cases}$$

4. Non-embedding theorem

In this section, we give the main theorem which includes the result by Y. Ando [1], and prove it by the similar methods to Massy [4], Y. Ando [1].

THEOREM. Let $m = 2^k$, $n = 2^l + r$ where $1 \leq k < l$, $1 \leq r < 2^l$. Then $P(m, n) \subset R^{2(m+2n)-4r-1}$.

PROOF. We assume $P(m, n) \subset R^{2(m+2n)-4r-1}$. Let $(E, p, P(m, n), S^{m+2n-4r-2})$ be the normal sphere bundle of this embedding. Then, by Massey [4], we obtain the following results.

There exists a subring $A^* = \sum A^q$ of the cohomology ring $H^*(E)$ and element a of $A^{m+2n-4r-2}$ such that

(18) A^* is closed under any cohomology operation (e. g. Sq -operation),

(19) $H^q(E) = p^*(H^q(P(m, n))) + A^q$ (direct sum, $0 < q < 2(m+2n) - 4r - 2$),

(20) $A^{2(m+2n)-4r-2} = 0$,

(21) any element $y \in H^*(E)$ can be expressed uniquely in the form $y = p^*(y_1) + ap^*(y_2)$ where $y_i \in H^*(P(m, n))$,

(22) if $y = Sq^i(a)$ in (21), then $y_2 = \bar{w}_i$.

From (22), we have

$$(23) \quad a^2 = ap^*(c^m d^{n-2r-1}) + \begin{cases} 0 & (\text{if } m+2n > 8r+4) \\ p^*(\sum_i h_i, j c^i d^j) & (\text{if } m+2n \leq 8r+4) \end{cases}$$

where $h_i, j = 0$ or $i+2j = 2m+4n-8r-4$, $i, j \geq 0$.

Now, we consider an element x of $A^{m+2n-2r-2}$ such that

$$(24) \quad x = p^*(v_1 c^m d^{n-r-1} + v_2 c^{m-2} d^{n-r} + \dots + v_{r+2} c^{m-2r-2} d^n) + ap^*(d^r)$$

where $v_i = 0$ or 1 ; if the power number of c is negative, then the coefficient v_i of its term equals 0 .

(A) The case of $r \equiv 0 \pmod{4}$.

From (5),

$$\bar{w}(P(m, n)) = 1 + c + \begin{cases} d + 0 + \dots & (k=1) \\ (c^2 + d) + c^3 + \dots & (k \geq 2). \end{cases}$$

Hence, by (18), (21) and (22)

$$Sq^1(a) = p^*(s_1 c^{m-1} d^{n-2r} + s_2 c^{m-3} d^{n-2r+1} + \dots + s_{2r+1} c^{m-4r-1} d^n) + ap^*(c),$$

$$Sq^2(a) = p^*(t_1 c^m d^{n-2r} + t_2 c^{m-2} d^{n-2r+1} + \dots + t_{2r+1} c^{m-4r} d^n)$$

$$+ \begin{cases} ap^*(d) & (k=1) \\ ap^*(c^2 + d) & (k \geq 2), \end{cases}$$

$$Sq^3(a) = \begin{cases} 0 & (k=1) \\ p^*(u_1 c^{m-1} d^{n-2r+1} + u_2 c^{m-3} d^{n-2r+2} + \dots + u_{2r} c^{m-4r+1} d^n) + ap^*(c^3) & (k \geq 2) \end{cases}$$

where $s_i, t_i, u_i = 0$ or 1 ; if the power number of c is negative, then the coefficient of its terms equals 0 . Then, by the calculation of Sq -operation we have

$$\begin{aligned} Sq^2(x) &= p^*(v_1 Sq^2(c^m d^{n-r-1}) + v_2 Sq^2(c^{m-2} d^{n-r}) + \dots) + Sq^2(a) p^*(d^r) \\ &\quad + Sq^1(a) p^*(Sq^1 d^r) + ap^*(Sq^2 d^r) \\ &= \left\{ \begin{array}{l} p^*(v_1 c^2 d^{n-r} + \dots) \\ p^*(v_1 c^m d^{n-r} + v_2 c^m d^{n-r} + \dots) \end{array} \right\} + p^*(t_1 c^m d^{n-r} + \dots) \\ &\quad + \begin{cases} ap^*(d^{r+1}) & (k=1) \\ ap^*(c^2 d^r + d^{r+1}) & (k \geq 2) \end{cases} \\ &= \begin{cases} p^*((v_1 + t_1) c^2 d^{n-r} + \dots) + ap^*(d^{r+1}) & (k=1) \\ p^*((v_1 + v_2 + t_1) c^m d^{n-r} + \dots) + ap^*(c^2 d^r + d^{r+1}) & (k \geq 2). \end{cases} \end{aligned}$$

Hence, using (23),

$$\begin{aligned} x Sq^2(x) &= t_1 ap^*(c^m d^n) + \begin{cases} a^2 p^*(d^{2r+1}) & (k=1) \\ a^2 p^*(c^2 d^{2r} + d^{2r+1}) & (k \geq 2) \end{cases} \\ &= (1 + t_1) ap^*(c^m d^n). \end{aligned}$$

Here, note that $n < (n-r) + (n-r+1)$ and $n < 2r + \left(\frac{m}{2} + 2n - 4r - 2\right)$.

On the other hand, using (13), (14) we obtain the following results.

From

$$0 = Sq^1 Sq^1(a) = p^*(s_2 c^{m-2} d^{n-2r+1} + \dots),$$

$s_2 = 0$ ($k \geq 2$). From

$$Sq^3(a) = Sq^1 Sq^2(a) = p^*((t_2 + s_1) c^{m-1} d^{n-2r+1} + \dots) + \begin{cases} 0 & (k=1) \\ ap^*(c^3) & (k \geq 2), \end{cases}$$

$$t_2 + s_1 = \begin{cases} 0 & (k=1) \\ u_1 & (k \geq 2). \end{cases} \quad \text{From}$$

$$Sq^2 Sq^2(a) = p^*((t_1 + s_1) c^m d^{n-2r+1} + \dots) + ap^*(c^2 d)$$

$$Sq^3 Sq^1(a) = \begin{cases} p^*(t_2 c^2 d^{n-2r+1} + \dots) & (k=1) \\ p^*((t_2 + u_1) c^m d^{n-2r+1} + \dots) & (k \geq 2) \end{cases} + ap^*(c^2 d)$$

$$\text{and } Sq^2Sq^2 = Sq^3Sq^1, t_1 + s_1 = \begin{cases} t_2 & (k=1) \\ t_2 + u_1 & (k \geq 2). \end{cases}$$

Hence, we have $t_1=0$ and by (20)

$$(25) \quad 0 = A^{2(m+2n)-4r-2} \ni xSq^2(x) = ap^*(c^m d^n).$$

But this is a contradiction. Thus $P(m, n) \not\subset R^{2(m+2n)-4r-1}$.

(B) The case of $r \equiv 1 \pmod{4}$.

From (5),

$$\overline{w}(P(m, n)) = 1 + 0 + \begin{cases} 0 & (k=1) \\ c^2 & (k \geq 2). \end{cases} + 0 + \dots$$

Hence,

$$Sq^1(a) = Sq^3(a) = 0$$

$$Sq^2(a) = \begin{cases} 0 & (k=1) \\ p^*(t_1 c^m d^{n-2r} + t_2 c^{m-2} d^{n-2r+1} + \dots + t_{2r+1} c^{m-4r} d^n) + ap^*(c^2) & (k \geq 2) \end{cases}$$

where $t_i=0$ or 1 ; if the power number of c is negative, then the coefficient of its term equals 0 . Then, we have

$$Sq^2(x) = \begin{cases} p^*(v_1 c^2 d^{n-r} + \dots) + ap^*(d^{r+1}) & (k=1) \\ p^*((v_1 + t_1 + v_2) c^m d^{n-r} + \dots) + ap^*(c^2 d^r + d^{r+1}) & (k \geq 2). \end{cases}$$

Hence,

$$xSq^2(x) = \begin{cases} ap^*(c^2 d^n) & (k=1) \\ (1+t_1)ap^*(c^m d^n) & (k \geq 2). \end{cases}$$

On the other hand, when $k \geq 2$, from

$$0 = Sq^3Sq^1(a) = Sq^2Sq^2(a) = p^*(t_1 c^m d^{n-2r+1} + \dots)$$

$t_1=0$. Thus, we have a contradiction (25).

(C) The case of $r \equiv 2 \pmod{4}$.

From (5),

$$\overline{w}(P(m, n)) = 1 + c + \begin{cases} (c^2 + d) & (k=1) \\ d & (k \geq 2). \end{cases} + 0 + \dots$$

Hence,

$$Sq^1(a) = p^*(s_1 c^{m-1} d^{n-2r} + s_2 c^{m-3} d^{n-2r+1} + \dots + s_{2r+1} c^{m-4r-1} d^n) + ap^*(c),$$

$$Sq^2(a) = p^*(t_1 c^m d^{n-2r} + t_2 c^{m-2} d^{n-2r+1} + \dots + t_{2r+1} c^{m-4r} d^n)$$

$$+ \begin{cases} ap^*(c^2+d) & (k=1) \\ ap^*(d) & (k \geq 2), \end{cases}$$

$$Sq^3(a) = 0$$

where the remarks for the coefficients s_i, t_i are same with before. Then, we have

$$Sq^2(x) = \begin{cases} p^*((v_1+t_1)c^2d^{n-r} + \dots) + ap^*(d^{r+1}) & (k=1) \\ p^*((v_1+v_2+t_1)c^md^{n-r} + \dots) + ap^*(c^2dr + d^{r+1}) & (k \geq 2). \end{cases}$$

Hence,

$$xSq^2(x) = (1+t_1)ap^*(c^md^n).$$

On the other hand, from

$$0 = Sq^3(a) = Sq^1Sq^2(a) = p^*((t_2+s_1)c^{m-1}d^{n-2r+1} + \dots)$$

$t_2+s_1=0$, and from

$$Sq^2Sq^2(a) = p^*((t_1+s_1)c^md^{n-2r+1} + \dots) + ap^*(c^2d)$$

$$Sq^3Sq^1(a) = p^*(t_2c^md^{n-2r+1} + \dots) + ap^*(c^2d)$$

$t_1+s_1=t_2$. Hence, we have $t_1=0$ and a contradiction (25).

(D) The case of $r \equiv 3 \pmod{4}$.

From (5),

$$\bar{w}(P(m, n)) = 1 + 0 + \begin{cases} c^2 \\ 0 \end{cases} + 0 + \dots \quad \begin{matrix} (k=1) \\ (k \geq 2). \end{matrix}$$

Hence,

$$Sq^1(a) = 0 = Sq^3(a)$$

$$Sq^2(a) = \begin{cases} p^*(t_1c^2d^{n-2r} + t_2d^{n-2r+1}) + ap^*(c^2) & (k=1) \\ 0 & (k \geq 2) \end{cases}$$

where $t_i=0$ or 1. Then, we have

$$Sq^2(x) = \begin{cases} p^*(v_1+t_1)c^2d^{n-r} + \dots + ap^*(d^{r+1}) & (k=1) \\ p^*((v_1+v_2)c^md^{n-r} + \dots) + ap^*(c^2dr + d^{r+1}) & (k \geq 2). \end{cases}$$

Hence,

$$xSq^2(x) = \begin{cases} (1+t_1)ap^*(c^2d^n) & (k=1) \\ ap^*(c^md^n) & (k \geq 2). \end{cases}$$

On the other hand, when $k=1$, from

$$0 = Sq^3Sq^1(a) = Sq^2Sq^2(a) = p^*(t_1c^2d^{n-2r+1})$$

$t_1=0$. Thus, we have a contradiction (25).

NIIGATA UNIVERSITY

References

1. Y. ANDO: *On the embeddability of Dold's manifold*. (Japanese) Sugaku 16.3 (1965) 151-153.
2. A. DOLD: *Erzeugende der Thom'schen Algebra* N. Math. Zeit. 65 (1956) 23-35.
3. W. S. MASSEY: *On the cohomology ring of sphere bundle*. J. Math. Mech. 7 (1958) 26-290.
4. W. S. MASSEY: *On the imbeddability of the real projective spaces in Euclidean space*, Pacific J. Math. 9 (1959) 783-789.
5. N. E. STEENROD and D. B. A. EPSTEIN: *Cohomology operation*. Ann. of Math. Studies 50 (1962).
6. C. YOSHIOKA: *Calculations of the binomial coefficients in the embedding problem*, Memo. Takada Bra, Fac. Educ. Niigata Univ. 9 (1965) 105-109.